The two switches in the circuit have been closed for a long time.
At t=0, switch one is opened.

At t=1 microsecond, the second switch is opened.

We want to find the inductor current at t>0.

This is a sequential switching problem.

Shown above is the circuit right before switch one opens.

We are interested in the current through the inductor.

In steady state, the inductor acts like a short circuit.

The two resistances are in parallel.

[equations]

The current can be found by Ohms Law.

We can use current divider to find the current through the inductor.

[equations]

We know that inductor current cannot change instantaneously so right after the switching, the inductor current will be the same as right before switching.

We will now analyze the circuit when switch one is open and switch two is still closed.

We are interested in the inductor current.

This is a natural response problem since the circuit has no power supply connected.

Eventually, the current will be zero.

We know the initial current from the previous step.

We can also find the time constant by calculating the equivalent resistance.

The inductor current will be the initial current times an exponential with the time constant as shown.

This equation is only valid for the time interval after switch one opens and before switch to opens.

We can now analyze the circuit after switch two opens.
Let’s find the equivalent circuit.

We are interested in the initial condition when t=1 microsecond.

From the previous stage, we can calculate the inductor current at one microsecond since the current can not change instantaneously.  

We can use source transformation to change the current source with a parallel resistor into a voltage source with a series resistor.

After the circuit is running for a long time, the inductor will have no voltage drop and the current can be computed using KVL.

The time constant is L/R.

The inductor current can be written in terms of final conditions plus initial conditions minus final conditions as shown.

Notice the time delay of 1 microsecond is shown in the exponential.

[equations]

Now let’s look at the inductor current. 

It starts at 1mA when t=0.

From t=0 to one milliamp it reacts to the natural response.

It then responds to the second switch.

Eventually, the current will reach -2mA.
